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A B

15
A B30 3
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A −→ B

(n − 2)

(n − 3)(n − 2)

(n − 4)(n − 3)(n − 2)

(n−2
k

)k! =
(n−2)!

(n−2−k)! k!
k! =

(n−2)!
(n−2−k)!

• (n − 2)!

• n

20! ≈ 2.43 × 1018

50! ≈ 3.04 × 1064

100! =

'

&

$

%
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	������
 
������ < a1, a2, a3, · · · an >�

 ������� ��
 �������� < a′
1, a′

2, a′
3, · · · a′

n > ��� 
	������
� �������!

"��� ���� � a′
1 ≤ a′

2 ≤ a′
3 ≤ · · · ≤ a′

n�

����������

< 6, 5, 3, 4, 1, 2 > =⇒ #�$%&'�()( =⇒ < 1, 2, 3, 4, 5, 6 >

	� 
��� ��

� ������� � �����
�����

���������� �� Insertion Sorting ���������	
	 ��
� 
�
������ ��

• �
�����
*��
��� "�
� 
����� ��� ������� 	��� +����

• ��
����,�� ��
 �
�������"�� 
	������
 �-� 
������ 
�� ".���� /�� �
�0

����
�����

• ��������� (insert) ��� 
����� �
� �
�����
��
 ��� 1�-��/2 �"�� �"�


���� ��
����,���� �
�������"�� 
	������
�

���������� 	
� ����
��	����
 ������� � ��

�

�

�

���������� ��������< 6, 5, 3, 4, 1, 2 >

������� �
� �
�����
��
 �
���������� 
	������


� <>

� < 6 >

 < 5, 6 >

! < 3, 5, 6 >

" < 3, 4, 5, 6 >

� < 1, 3, 4, 5, 6 >

NIL < 1, 2, 3, 4, 5, 6 >

	�
��
�� ���� ������ ���
� � ������� Insertion Sort#

������ ���$�%� ���
���� �������&
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Insertion Sort�A�

� for j ← 2 to length(A) do

� key ← A[j]

� /* Insert A[j] into the sorted sequence A[1...j − 1] */

� i ← j − 1

� while i > 0 and a[i] > key do

� A[i + 1] ← A[i]

� i ← i − 1

� A[i + 1] ← key

j

key

i1 n 3 4 1 265

65 4 1 23

1 26543

6543 21

6543

6 5 3 4 1 2

21

��������� � ������� Insertion sort �������
� �	
��
�� (in place)�

���������� 	
� ����
��	����
 ������� � ��

�

�

�

Insertion Sort(A) ������ �

�
������

� for j ← 2 to length(A) do c1 n

� key ← A[j] c2 n − 1

� � !!!  � "

� i ← j − 1 c4 n − 1

# while i > 0 and a[i] > key do c5
∑n

j=2
tj

$ A[i + 1] ← A[i] c6
∑n

j=2
(tj − 1)

% i ← i − 1 c7
∑n

j=2
(tj − 1)

& A[i + 1] ← key c8 n − 1

�
��' tj �(�
� � 
������ �)� �

�
����)� 
�� �	����(�
� �� while loop ��
 ��

���	�	���*�� ���� j!

• T (n) = c1n + (c2 + c4 + c8)(n − 1) + c5
∑n

j=2
tj + (c6 + c7)

∑n

j=2
(tj − 1)

• + ,����� �	�*����� running time �(�
� ��������� ��� n' -��
-�' ��� ���*����

��� ����-��!

• .�
 ����-��� (-��� ���*����' � ,����� �	�*����� �
���( �
 �(�
� -�
/�����	��!
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T (n) = c1n + (c2 + c4 + c8)(n − 1) + c5
∑n

j=2
tj + (c6 + c7)

∑n

j=2
(tj − 1)

• ��� � ������� ���
� ��� �
����������� tj = 1� ��� j = 2, 3, · · · , n 

=⇒ T (n) = c1n + (c2 + c4 + c8)(n − 1) + c5(n − 1) + 0

= c1n + (c2 + c4 + c5 + c8)(n − 1)

= (c1 + c2 + c4 + c5 + c8)n − (c2 + c4 + c5 + c8)

��������� �	 
��	 �� n


• ��� � ������� ���
� �
���������� �� �������
 ������ tj = j� ��� j = 2, 3, · · · , n 

=⇒ T (n) = c1n + (c2 + c4 + c8)(n − 1) + c5(
n(n+1)

2
− 1) + (c6 + c7)

n(n−1)
2

 
 
 

=
(c5+c6+c7)

2
n2 + (c1 + c2 + c4 + c5

2
− c6

2
− c7

2
+ c8)n

−(c2 + c4 + c5 + c8)

= an2 + bn + c �
�� a, b, c ���
� ��
�����

������������ �	 
��	 �� n


!�� �����
 
��� �
� ����
����� � ����� ��	 ������	 � ��� "����� �	������� 

(order of growth)
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�

�������� �	
��
	�
���� �Worst case analysis�

• �
����� ��
 ��� �����
 ��
 ��� 


�������� ����� �	������� ��
 	�	�����	��

������ 

• !�
 
�	����� 
���������� � �������� 
���
��	����
 

������"��
� 
��� �����

#
� 
��������� 
�
"$�����% 

• &���	�� ����� � ���� �	
��
	�
���� ���
� ���� '������( ��� � �������� 

���� �	
��
	�
���� �Average case complexity�

• )
������ ��� ���� �� ������� ���	�	������� �������� ���
� ���
��
��� 

• !�
 �� ������ insertion sort* tj = j/2 =⇒
T (n) = · · · = a′n2 + b′n + c′ = Θ(n2)

+ �������� 
���
��	����
 ��
 �� ������ insertion sort ���
� �
���� Θ(n2) 
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���������� �� Merge Sort ���������	
	 ��
� 

�����

	� ��

• ������ ��� ������ �� ��� ���
 �!��"

• ���������	 �
�������� 	��� !�
 

� 
���"

• 
��
������ �
 ��� #�� �
�������!�
 �!��"

���	������

6 73 1 2 45

8 6 73 15 2 4
3 6 7 8 1 2 4 5

8

8

6

7

73 15 2 4

8 3 7 5 1 2 46

6 8 3 7 1 5 2 4

3 81 2 651
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��	����
 ������� � ��

�

�

�

��� ������	 
 ���
�����
�

�������� � �
����������� ������ A 	
� B �� a 	
� b �������
 � 	
����
�


��������
 

!������� "�
 �
���������� ����
 C � �
��
 
������� ��
 �
 �������
 �#�

A 	
� B $� ������� ��� ����
� C ���
� n = a + b 

Merge(A, B, C)

while �
������ 
	��� �������
 ���� A % ��� B do

• &'�	���� �
 (
�)�
* �������� ��� A 	
� ��� B 

• $�
������� �� ��	������ 

� �
 �'� ��� (�����* ��� ����
� C 

������	���

1

6

7

3

4

A B C

6

7

3

4

A B C

1

6

7 4

A B C

1

3

6

7

A B C

1

3

4

A B C

1

3

4

6

7

A B C

1

3

4

6 7

����
��	����
� Θ(n)
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Merge-Sort(A, p, r)

if p < r then

• q ← �(p + r)/2�
• Merge-Sort(A, p, q)

• Merge-Sort(A, q + 1, r)

• Merge(A, p, q, r)

�������

• ��� �� ������� ��� ������� ���
� ��	��� ���
��� n ≤ c ��
 	�
��
 ��
���� c� ���� ��


������
 � ���
� �� ��
���� !����" ����	��
����
 Θ(1)"

• #���$ T (n) � !����� 
�� !����%��
� ��
 ��� �
�������� ����
� �������� n"

• #���$ C(n) � !����� 
�� !����%��
� ��
 �� ���!&����� � ����&� ������	� ��������

n" '�$��%���� ��� C(n) = Θ(n)"

• #���$ ��� �� 
������
 �
���� �
 ��
������ �� � �
�(
������
�
 �� ��
���� !����� 	
�

��� c = 1" )���*

T (n) =

{
Θ(1) ��� n ≤ 1

2T (n
2
) + Θ(n) ��� n > 1

���������� 	
� ����
��	����
 ������� � ���

�

�

�

�������� �
����� 	������� ����
�
�����	��� � 
�� ��
 �� T (n)!

�
��"����� ��� n = 2k �#$ log n = k�%

Θ (n)Θ

Θ(n/2) Θ(n/2)

T(n/4) T(n/4) T(n/4) T(n/4)

(n)Θ

Θ(n/2)Θ(n/2)

Θ(n/4) Θ(n/4)Θ(n/4) Θ(n/4)

Θ(1) Θ(1)Θ(1) Θ

(n)

(1)

logn

Θ(1) Θ(1)Θ(1) Θ(1)

(n)Θ

(n)Θ

(n)Θ

(n)Θ

(n)Θ

(n)Θ

T(n/2) T(n/2)

lognTotal

=⇒ T (n) = Θ(n log n)
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• ��
 �� ������ merge-sort �������

�������� 
���
��	����
 ������

 ��� 
���
��	����
 ������

!������� 
���
��	����
 ������

⎫⎪⎬
⎪⎭ = Θ(n log n)

• ��
 ��	��" ����" ��� n# � ������" insertion-sort �
���� �
 ���
� ����������� 

� ��

������ merge-sort$

 
" ����
%���� � �
����� �&� 
�������&� ��
� �� ������" ��"

������� n −→ ∞$

' 
������ 
���� ��� �����" �����(��
� ����
������$

���������� 	
� ����
��	����
 ������� � ���

�

�

�

��� ������ ��	 �
���
���	 ���

• �
 ����������� ��
������	��� 
���������� ��
 �� ���� 
������
 �� �� �� �� ��!


���
�"��	� ���� ���
�������#

$
� 
��� �� ��!��	�%

&'!
� Θ(n) 
��������� ��!
� 	
������� 

�  !


Θ(n log n) 
�������� % � �
���� ��!
� 	
������� 

�  !


Θ(n log2 n) & &

Θ(n2) & &

Θ(n3) & &

Θ(2n) & &

Θ(n2n) & &

Θ(n!) & &

Θ(22n
) & &
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���������(Graphs)

������� ���
 ������� G ���
� ��
 ������� (V, E) �
�� V ���
� �� ������ ���

���	
�(vertices) 	
� E ���
� �� ������ ��� �����(edges)�

���	
�����

E={(1,3), (2,3), (2,4), (3,4), (4,5)}

1 3

2 4

5

6

V={1,2,3,4,5,6}

���� 
	�� ���
� ��
 ��
���
����� ������� 

� 	�� ��!�


���� �����	�� �� ����������

• "�����
 ��� �������
����� ���! ���
����� 
������ 
�� ��������

• #��
���	� �������
 ��� �$���
��� 
����������

���������� 	
� ����
��	����
 ��

�

�

�

������������� 	
������� (Directed graphs – digraphs)

E={(1,3), (2,3), (2,4), (3,3), (3,4)}

1
V={1,2,3,4,5}

3

2 4

5

• � 	����� 5 ���
� ��
� ������������ (isolated) 	������

• � 
	�� (3, 3) ���
� ��
� �	
���� 
 self-loop��

• � ��������
� 
in-degree� ��� 	����� v ���
� � 
������ ��� 
	��� 
�� ���������
�

���� 	���� v �������� ��
� �� d−(v)!�

d−(1) = d−(2) = d−(5) = 0, d−(3) = 3, d−(4) = 2

• � ��������
� 
out-degree� ��� 	����� v ���
� � 
������ ��� 
	��� 
�� �"������
�



� ��� 	���� v �������� ��
� �� d+(v)!�

d+(1) = 1, d+(2) = d+(3) = 2, d+(4) = d+(5) = 0

•
∑
v∈V

d−(v) =
∑
v∈V

d+(v) = |E|
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����������	
��	� �
������� �Undirected graphs�

E={(1,2), (1,4), (2,4), (3,5)}

1
V={1,2,3,4,5}

3

2 4

5

���� 
	�� e ∈ E ���
� ��
 �������������	� ������� 	������

• � ������ �degree� ���� 	����� v ���
� � 
������ ��� 
���	������� �incident 
	�!�

���� 	���� v �����������
� �� d(v) �

d(1) = d(2) = d(4) = 2, d(3) = d(5) = 1

•
∑
v∈V

d(v) = 2 · |E|

���������� 	
� ����
��	����
 ��

�

�

�

���Multigraphs� �	
����������
 	
� ���	
����������
�

• �� E �
����
��
� �
 
������� �� ������ 	������ (u, v) 
����������� 

� ��
 ������

      (5,3), (5,3), (5,5), (5,5)}

E={(1,3), (1,3), (1,3), (1,4),

      (3,4),

V={1,2,3,4,5}
1 3

2 4

5
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��������� �paths	

• ���
 �������� ����	
 k 

� ��
 	���� u 
��� ��
 	���� u′ ��� ��
���
���

G = (V, E) ���
� ��
 
	������
 < v0, v1, v2, · · · , vk > 

� 	������ ���� ����

u = v0, u′ = vk 	
� (vi−1, vi) ∈ E ��
 i = 1, 2, · · · , k.

• �� ����
 �length� ��� ����

���� ���
�

� 
������ ��� 
	��� ��� 

• ���
 ����
!�� ���
� 
��� �simple� �!�

	
���
� 	����� "�� ���
��#��
� 
����$

������� 

� ��
 ���! 
5

1

6

32

4

< 2, 4, 5, 4, 1 > ���
� ��
 ����
!�� ��	��� % &��$

��' 

< 2, 4, 1 > ���
� ��
 

�� ����
!�� ��	��� ( 

• �� ����
!�� < v0, v1, · · · , vk > �)��
��#�� ��
� ����� �cycle� �!� v0 = vk 	
�



�������
� 

� ����!)����� ��
 
	�� 

< 2, 4, 5, 4, 1, 2 > ���
� ��
� 	�	��� 

• ���
� 	�	��� ���
� 
���
 �simple� �!� 	
���
� 	����� "�� ���
��#��
� 
�����������



� ��
 ���! 

• ���
 ��!���
 )���� 	�	���� ����!#��
� 
�	����� �acyclic� 

���������� 	
� ����
��	����
 ��

�

�

�

����������� ���	�	
�� 
������	� �Connected components�

• ���
 ���	
����������� ������
 ���
� ����

�������� ��� 	��� ������� 	����� ������

�
� �� ��
 ����
����
4 5

21 3

• �
 ����������	 ���
	
��
 ��� ���	
������������ ��
�!�
�� ���
� �� 	��"�� 

�"�#��
��
 ��� 	����� 
�� �������
� 

� �� "$�"� ����	� �������
����� 	��� �

{1,2,5}

{4}

Connected components:

{3,6}

5

1

6

32

4



���������� 	
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������ �������	
�� ������
�� �����	��� �Strongly connected components�

• ���
 	
����������� ������
 ���
� ������

�������	
�� ��� 	��� � 	����� ��� ���
�


���
�������� � ��
� 

� ��� �����
5

1

6

32

4

• �
 ������ �������	
�� ���
�
��� ���� 	
������������ ��
���
��� ���
� �� 	������

��� ��
��
� �!� 	���!� 
�� ���"���
� 

� �� �#��� ������ �	������ ����������	����

1 3 4

6

5

8 9 10

2

7

components
{1,2,6}connected

Strongly
{9}{4} {5,10}{3,7,8}

���������� 	
� ����
��	����
 ��

�

�

�

����� �������	� 
Complete graphs, cliques�

• ���
 ���	
����������� ������
 ��� �
��� 	��� ������� 

� 	������ ������
� �� ��



	���

1

2

3 4

5
|E| =

|V |·(|V |−1)
2

d(v) = |V | − 1,∀v ∈ V

��
�
��� �������	� ������ d 
d-regular graphs�

• ���
 �� 	
����������� ������

�
 ��� �
���� ���� �� 	����� ���

�
� �
��� d�

1 2 3

4 5 76

���
 
����� ������
 ���
� !�
 	
����	� ������
 �
��� (|V | − 1)�
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� ����
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 ��
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�
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������ �������	� 
Bipartite graphs�

• ���
 ���	
����������� ������
 G =

(V, E) ��� �
��� �� V ���
� ��
��������

�� �� ��� �����
� V1 	
� V2� ���� �����

��� (u, v) ∈ E ���� ���� (u ∈
V1 	
� v ∈ V2)  (u ∈ V2 	
� v ∈ V1)!

1

2

3

4

5

6

7

��	�
�
������ ��
����� �������	� 
Directed Acyclic Graphs, DAGs�
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2
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4

6
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������ �Trees�

• ���
 ���	
����������� ������
 
�� ��� 
������� 	�	�����

1 2 3

4 5 6

���	
���� �
 ���� �Weighted graphs�

• ���
 ������
 ��� �
���� 	��� 
	� !��������
� 

� ��
 "���� # ���	��
$�

1 2 3

4 5 6

1 2 3

4 5 6

Undirected

10 20

20

10 40

30

10 20

30 40

50

Directed

����������� �%�
� ���!���
������ ���� 
!��
�&��	��� !��"���!����

#Θ(), Ω(), O()$ �� !��"��� V �
����'��� �� |V | 	
� �� E �
����'��� �� |E|�
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������������ �	� 
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����� 
��������� ����	� �Adjacency list representation�

• ���
 �������
 Adj 

� |V | ������� ��
 ��
 	��� 	���� ��� V �

• ��
 	��� u ∈ V � � ����
 �������	�� 	����� Adj(u) 
��� !�� ����� ���� 	������ v ��


���� �
����� ��!"�� ��� � 
	�# (u, v) ∈ E�

1 2

3

5 4

/

/

/2 4

1 2

3

5 4

/

/

/

/

/

1

4

3

2

5

2 5

2 4

/

/

1

4

3

2

5

2 5

1 3 5

2 4

3 5

2 41

Adj()

Adj()

�

���"���� ��#��$ O(V + E)�

���������� 	
� ����
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 ���

�

�

�

������ ����	���
� ���
�� �Adjacency matrix representation�

• ���
� |V | × |V | 
��
	
� A = (aij) ������� ����� aij =

{
1 ��� (i, j) ∈ E

0 �� ���� 
���
����

1 2

3

5 4

1 2

3

5 4

21 3 4 5

21 3 4 5

1

1

4

3

2

5

1

4

3

2

5

0

0

0

0

0

0 0

0

00

0 0

1 1

1

1

111

1

0

1

1 1

1

0 0 0

0 0

0 0 0

0 0 00 0

0 0 0

0 0 0

1 1

1 1

1

• � 
��
	
� �������	�� 	����� ���� �� 	
������������ ��
!"�
��� ���
� ��������	��

�� 
��� �� #�
����� ���$

�

���%���� ��"��� Θ(V 2)$
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• �������
������ ������ �������	�� 	����� ��
 ����� �sparse� ��
���
�
 �|E| ���
�


��� ��	������ 

� �� |V |2� 

• �������
������ 
��
	
 �������	�� 	����� ��
 ���	� �dense� ��
���
�
 ��� |E|

�������!�� �� |V |2� 

• "#�
� $������
������ ������ �������	�� 	�����% $���
!��
��� O(|V |) ��
 �


&�

��������� �'� �
'�$�� � 
	�� (u, v) 

• "#�
� $������
������ 
��
	
 �������	�� 	�����% $���
!��
��� O(1) ��
 �


&�

��������� �'� �
'�$�� � 
	�� (u, v) 

���������� 	
� ����
��	����
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�

�

�

��������� ���	 
�	��
 �Breadth-First Search - BFS�

�� �������
 ��
 ������
 G = (V, E) 	
� ��
 	���� 
������
 �source� s� ������� �


�������� ����  � ���
��	� ��! 
	��! ��� G 	
� �
 "
�
	
�#$����% 	��� 	���� 
��

���
� 
�� 
��� ���! 

� ��� s&

• ' BFS �
�����(�� ��! 

� �� ��! ����)� ��! 
�����! 
	�*�� 
��! ����! ���!

	�����! 
�� ���
� 
�� 
��� ���� 

� ��� s&

• ' BFS ���������� ��
 ������ �breadth-first tree� 
�� 
����)�� ����! ���!


�� 
��� ����! 

� �� s 	�����!&

����������
r s t u

v w x y

BFS

r s t u

v w x y

01

12

2

2

3

3
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• � BFS �
�	������ �
 ���
 
�����
 ����� 	������ 
�� ����� �
�
	
������� 	
� ��


����� 
��  �� ����� �� ���������� ���
� !�� ��� �� 
����� �"� ���"� 
��#�$%

• ��
	
��
��� ����� ���� 	������ 
�� ����	���
� �� 

���
�� k 

� ��� s 
���


�
	
��&�� 	�
���� 	���� 
�� ����	��
� �� 

���
�� k + 1%

• '
�� ��� �	�����( ���) � BFS ��"�
��*�� ���� 	������ ��
����) �	��) ( �
�����%

������� 	�����+  �� ����� 
�
	
������ 
	���%

���� 	�����+ ����� 
�
	
������, �
 �������
������� ��
 ��� 
�
	���&�

���"� 	���"�%

	
���� 	�����+ ����� 
�
	
������, �
� �
 �������
������� ��
 ��� 
�
	���-

&� ���"� 	���"�%

frontierG:

Black vertices

Grey vertices

White vertices

���������� 	
� ����
��	����
 ���

�

�

�

BFS(G, s)

for each vertex u ∈ V [G] − {s}
do color[u] = white

d[u] = +∞
π[u] = NIL

color[s] = grey

d[s] = 0

π[s] = NIL

Q ← {s} �� Q is a FIFO queue ��

while Q �= ∅
do u = head(Q)

for each vertex v ∈ Adj[u]

do if color[v] = white

then color[v] = grey

d[v] = d[u] + 1

π[v] = u

enqueue(Q, v)

dequeue(Q)

color[u] = black

������� O(V + E)

��
�������� ��� ���� �������
������ � 
�


����
�� �� ������ �������	�� 	������
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Qr s t u

v w x y
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Qr s t u

v w x y

01
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1 1

Qr s t u

v w x y

01

1

2

21

r t x

2 2

Qr s t u

v w x y

0 2

21
2 2

2

1

t x v
2

Qr s t u

v w x y

0

2

(e)

1
2

2

1

2

32

x v u
3

Qr s t u

v w x y

0

12

1

2

32

3
32

v u y

3

Qr s t u

v w x y

0

1

1 32

32
3

2

u y

3

Qr s t u

v w x y

0

1

1 2

322
3

3

y

Qr s t u

v w x y

0

1

1 2

22

3

3

(a)

(b)

(c)

(f)

(g)

(h)

(i)(d)
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��������� ��� BFS

• d[u] = δ(s, u)

�δ(s, u) ≡ �� ��	�� ��� ��������� ����

���� 

� ��� s ���� u� ���
� � ���������


������ 
	��� 

� ��
 �
 ����
���
 

� ��� s ���� u�

•  BFS 

����� !�
 "!�"�� �breadth-first search tree# �� �
��� 

�������
� 

� �����

���� 
���
��������� 

� ��� s 	��$���� !��� ����� ��
 	��� 	��$� u ��� "!�"���

������ ��� �� 

�� ����
��� 

� ��� s ���� u ���
� �
���� !�
 �������� ����
����

�� 	
�
 ���	
 
�
��
��� �
 �������
 �
�
	���
�

Print Path(G, s, v)

if v = s

then print s

else if π[v] = NIL

then print “ no path from s to v exists”

else Print Path(G, s, π[v])

print v

�������� %����� ��
���	�� &� 
��� ��� 
����� �&� 	��$&� ��� ����

�����

•  BFS �
���� �
 �'
������� �� 	
����������
 	
� ��(	
����������
 ��
'��
�
�
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��������� ���	 
	��
 �Depth-First Search DFS�

• � DFS �������� �
�� �
���� �� ������
� ��
� 
��� ���
� ���
���

•  �������!��
� �� 
	�"# 
�� ��	���!� 

� ��� 
�� 
��$�
�
 
�
	
����"��
 	���� u �

�
���# "%�� 
	��� 
�������!����# 
	�"#�

• � DFS $��
��&�� %����	� 	��� 	�����

d[u] : � %����	' $����' �
�� � u 
�
	
�!
���
� ��
 
�(�� �����

f [u] : � %����	' $����' �
�� � �����!��$� �"$) ��� u ���	���(���
�� ����� �

��$�
 �)� �������	(� �� ��� u 	���)� "%�� 
�'�)# ������������

• � DFS 

����� "�
 ��$�# 

� �"���
 *depth-first forest+ �� �
��� 

�������
� 

� "�


� 
���$$����
 ��"���
 	
��,����# 
�
&'��$�$� *depth-first trees+�

���������� 	
� ����
��	����
 ������� � ��

�

�

�

����������
u wv

x y z

DFS

u wv

x y z

1/8 2/7

3/64/5

9/12

10/11

• �
�� ��� �	������ ���� � DFS ����
�� �� ���� 	��!��� �������� �	�
� � ��
����"

	
���
� 	��!��# $�� ����� 
�
	
��%��� ��� �&�
"

���� 	��!��# ����� 
�
	
��%���� 
��� �
������ 
	��� 
������'����� 
	���


�� ��������
� 

� 
��'�"

����
� 	��!��# ����� 
�
	
��%���� 	
� ���� �� ����������� 

� 
���'� 
	���

����� �����������"

u  is white
time

u  is grey u  is black

d(u) f(u)
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DFS(G)

for each vertex u ∈ V [G]

do color[u] = white

π[u] = ���

time = 0

for each vertex u ∈ V [G]

do if color[u] = white

then DFS visit(u)

DFS visit(u)

color[u] = grey

time = time + 1

d[u] = time

for each vertex v ∈ Adj[u]

do if color[v] = white

then π[v] = u

DFS visit(v)

color[u] = black

time = time + 1

f [u] = time

�������� O(V + E)
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1/ 2/
u wv

x y z
3/

1/ 2/
u wv
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u wv

x y z
3/4/
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u wv

x y z
3/4/5

1/1/ 2/
u wv

x y z
4/5 3/6

1/
u wv

x y z
4/5 3/6

2/7

u wv

x y z

1/ 1/ 2/
u wv

x y z

u wv

x y z
4/5 3/6

2/7
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u wv

x y z
4/5 3/6

2/71/8 9/
u wv
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2/71/8
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4/5 3/6

2/71/8
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u wv
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u wv
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u wv
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10/11

u wv

x y z
4/5 3/6
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��������� ��� DFS

• �	��
��
�� 	����

�� ����� ������	 (tree edges) ���
� �� 
	��� 
�� 
��	��� ��� 	
��������  ����

 �� �!� Gπ� " 
	�� (u, v) ���
� ��
 
	��  �� ��� ��� � 	����� v �#��


�
	
��$��� 	
�� ��� �����%���� ��� 
	��� (u, v)�

&� ����� 
��� �� 

�� �back edges� ���
� �� 
	��� (u, v) �� �
���� ��'���� ��


	���� u �� ��
 
������ ��� v �� 	�
��� 	
��������  �� �� 
�
(�������

)� ����� 
��� �� ��
��� �forward edges� ���
� �� 
	��� (u, v) �� �
���� ��'���� ��


	���� u �� ��
� 

����� ��� v �� 	�
��� 	
��������  �� �� 
�
(�������

�� ����� 
��� �� 
����� �cross edges� ���
� ���� �� ����� 
	���� *��
� 
	��� ���
�%

�!� 	���!� ��� � ���  �� ���+ �
� ��� 
��,
����� ��� � ��
� 	�����  �� ���
�


������� ��� �����+ � ���
� 
	��� ���
�% 	���!� 
�� 
��	��� ��  �
$�����	�

 �� �
 	
��������� 
�
(�������

• �	��������� ����

-� #����	�� ������� ������	��� 	
� ����������� �#��
��(��� ��
  ���
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Tree edge

Back edge

Cross edge

Forward edge

s

z

y

x

w

t

uv
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• ���� 
	�� (u, v) �
���� �
 	
�������
������ �� ���� �� ����
 
�� ���� � 	����� v

	
�� ��� ����� ���� ���!

(u, v) ���
�

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

���� ������	 ��� � v ���
� ��
���.

���� 
��� �
 
��� ��� � v ���
� �	��.

���� 
��� �
 ��
��� ��� � v ���
� �
 ��� 	
� d[u] < d[v].

���� 
��� �
 
����
 ��� � v ���
� �
 ��� 	
� d[u] > d[v].
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 �Topological sort�

• � ��
�����	� ����
�� ���� 
	�	��	�� 	
������������ ��
���
��� �DAG�

G = (V, E) ���
� ��
 ��
���	� ����
�� �� � � � 	��! � ��� �"���
 #$�� ��� � G


���"%�� ��� 
	�� (u, v) ���� � 	��!�� u ���
��&��
� 
��� 

� ��� 	��!� v'

• (�� �� ������
 ��� ���
� 
	�	��	�) ���� ��� ���
� ���
�� � ��
�����	� ��� ����
��'

�������� *������
���� ��� $���� �	�"��$�� ������� �'

���	
����� ���
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Algorithms

Computer
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Operating
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Topological Sort(G)

�� �	������ ��� DFS(G) 	
� �
������� �� �����	� ������ ���	������� f [u] ��
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v% &���) � (u, v) �����
� ��
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��"# 
	��% →←

���������� 	
� ����
��	����
 ������� � ���

�

�

�

������� � Topological Sort(G) 

����� ��
 ��
�����	� ����
�� ���� DAG G

��	
����

��	�� �
 �������� ��� ��
 	��� ������� 	����� u, v ∈ V  ��� �
��!�� ��
 
	�� "�� G



� ��� u 
��� ��� v  ���� f [v] < f [u]#

$��������� ��� �
��
��
��� 
	�� (u, v) � �
��
 ����������
� 

� ��� DFS(G)#

%&�
� ����������
� � (u, v)  
 v 
�� ��
��� �� ����� ����#

'� v �
 ��
� 
������� ��� u 	
� (�"� � (u, v) �
 ��
� ��
 )
��� �
 
�"�* 
	��+#

%��
 � v ���
� �"
��� � �
,���#

• ��� 
 v ����� ����
� ���� �����
� 

������ ��� u# =⇒ f [v] < f [u]#

• ��� 
 v ����� ����
� ���� � 
�
����"� �("� ��� v (!�� ���	�������#

=⇒ f [v] < f [u]#

�
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� ������� ��	
��
	��
	��
���
�
� �Divide-and-Conquer�

• ��
 
�
�����	� 
�����	���

– �������� �� 
������
 �� ��
� 
����� 

� �
�
������
�
�

– ���	
�� �
 �
�
������
�
 
�
�����	��

– �
�
���� ��� � ���� �!� �
�
��������!� ���� "��� �
 �"���� �� � �� ���


�#�	� 
������
�

����
������ $
�������� ���! ���#!�� ��!� %Merge Sort&

���	
��� '
������� �� ����������	 
��
��	�

���������� 	
� ����
��	����
 ������� � ��

�

�

�

� n−���� ����	
 ���
 n × n ������

�������� ���
� n × n 
��
	
� A�

�������� An = A × A × · · · × A︸ ︷︷ ︸
n ��� �

������� !� A2 = A × A �
���� �
 �
��������� �� O(n3) "�����

• ��� ���� ������
����� �iterative� 	�����


#$% RESULT = A

#�% for i = 2 to n do

#&% RESULT = RESULT × A

• ������


'(�
 $� Θ(n2)

'(�
 �� Θ(n)

'(�
 &� Θ(n4) )n − 1 
������ 	������ O(n3) � 	��� ��
�*

������� Θ(n4)

� !�
�
� +
���,�� �
 �,����� �� 
��-���
 ����������
.



���������� 	
� ����
��	����
 ������� � ��

�

�

�

��� ���� ���	
 ��
����
���
�������
��

�
�������� ��� n = 2k ��� log n = k�� �����

An =

n �����︷ ︸︸ ︷
A × A × · · · × A = (

n
2 �����︷ ︸︸ ︷

A × A × · · · × A) × (

n
2 �����︷ ︸︸ ︷

A × A × · · · × A) ��

An = (A
n
2 ) × (A

n
2 ) =

(
(A

n
4 ) × (A

n
4 )

)
×

(
(A

n
4 ) × (A

n
4 )

)
= · · · ��

An = (A
n
2 )

2
=

(
(A

n
4 )

2
)2

=

((
(A

n
8 )

2
)2

)2

=

(((
A2

)2
)2

· · ·
)2

︸ ︷︷ ︸
log n

logn

An

A A

AAAA

A A A A

A A

A A A A

A A

n/2

n/4

2

n/2

n/4 n/4 n/4

2 2 2

���������� 	
� ����
��	����
 ������� � ��

�

�

�

• ����� �����	
������
����
�
� ����	�����

RESULT = A

for i = 1 to log n do

RESULT = RESULT × RESULT

�������� Θ(n3 log n)

�
����� ��� � 
���

�
��
���� 
���	�� �
���� �
 
�
��
��
������ �� O(f(n))

������ ���� �� An �
���� �
 �
��������� �� O(f(n) log n) ������

������� f(n) = Ω(n2)� ���
� � ��
 ��� 
���

�
��
��� �!� n × n 
���	��

�����"���
� Ω(n2) 
�������
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������� �����	
�
 �Binary search


�������� ���
 �
���������� �������
 A 

���������� 

� n �������


	
� ��
 
��� 
�
 !���� �������� key"

�������� # ���� ��� ��������� key ���� A" ��� �� key ��� �
�����

���� A �
�����$��
� � ���! 0"

• ����� 	�	�������� ����������

�������� �� �������
 

� ��� 
��! 
��� �� �����"

��� ���
��!���� �� �������� key 	
�� �� ����	��
 ���

�����������% ���� �
�����&� �� ���� ���"

����'�% �
�����&� 0"

������
� Θ(n)

���	���
� ��
 ��
� �����
 �����
����� 
�������� � �
���� ��� �
�(���� �
� �&�� ���

�� ������� ��� �� �������
 ���
� �
����������"

���������� 	
� ����
��	����
 ������� � ��

�

�

�

����� �����	
������
����
�
� ����	�����

�
������ ��� n = 2k ��� log n = k� 	
� ��� �� A ���
� �
���������� �� 
�����
 ����� 

Binary search(A, i, j, key) !" ��
#��� �� key ���
 ��� A[i..j] "!

if i > j return (0) and exit

if i ≤ j do

middle = �(i + j)/2�
if key = A[middle] then return(middle) and exit

else if key < A[middle] then Binary search(A, i, middle − 1, key)

else Binary search(A, middle + 1, j, key)

2
k

2
k-3

2
k-1

2
k-2

2
k-1

2
k-2 2

k-2

2
k-3

2
k-3

1

A



���������� 	
� ����
��	����
 ������� � ��

�

�

�

������� ��� �� n 
��	�� ��� �������
 [2k−1, 2k)� ���� � Binary search �	�����

�� 
��� k ���	������ ������� � ��
 ��
 
�
!����� �� ����	� 

��"����
� 	
� k − 1 �

k ���	������ ��
 ��
 
��
����� 
�
!�����#

��	
���� �������� �� ��
��	� �"���� 

�$��� � %binary decision tree& 
��


���������� ���� Binary search#

2

3

1

4 (k)

5 (k+1)

1

3

4

5

6

7

8

9

11

13

1210 142

• '�
 �
������"�� 
�
!����� �����(��� �� "�
 © 	��)�#

• '�
 
��
������ 
�
!����� �����(��� �� "�
 � 	��)�#

• © 	��)�� �
������ ��
 �
�
��
 1..k#

• � 	��)�� �
������ ��
 �
�
��
 k 	
� k + 1#

���������� 	
� ����
��	����
 ������� � ��

�

�

�

• � ������ 
�� ��������
� ��
 ��
 
�
������ �� ����	� 

�������
 ���
� O(log n)� �� 

� ������ 
�� ��������
� ��
 ��
 
��
����� 
�
������ ���
� Θ(log n)!

����������

��	
���
 �����
��� ����	
���
 �����
���

"
�#���� 
���
�$�� Θ(1) Θ(log n)

%�������� 
���
�$�� Θ(log n) Θ(log n)

&��� 
���
�$�� Θ(log n) Θ(log n)

���
��� '
 (����#�� ��� �$���
�� �� )������
 �� * ���� +�������� ������	
	

ternary search,-

n/3 2n/31 n



���������� 	
� ����
��	����
 ������� � ��

�

�

�

������������� 	�
 ?convex hull?

• �� convex hull ���� ������� 

� n �����
 ��� �
�
���� ���
� ��
 
	������
 

�

�����
 ��� ������� � �
��
 ������ ��
 	���� convex ���
��� 
�� 
���	����� ��
 �


�����
!

�����
����

• ����� ������
�����������


� ����������

• "#���� �
 �����
 �� $ �%���
& �� 	
���
 

� n/2 �����
!

• ��
�����	� �
������� �
 �%� convex hulls!

• '���%
�� �
 $ convex hulls!

���������� 	
� ����
��	����
 ������� � ���

�

�

�

����������

��	
���� ��� ���
� ��	��� �
 �����
����� �� �������


���������� ���� ������ �
 �����
 ��
 �����	��

���	���� !
 �����
 �� ��� �"������ 	
� ���#����� y$������
��"��� 
�%	��� ���

convex hull� &'��( ��� �
 �����
 
��� ���
� �
 A 	
� B) 
�������#
�
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• ������ �
 �����
 �� � �����
 �� ���� �� ���� ��� �� ����� �� ��� ��
�� AB!

"��� �
 � ��	�����
 
���� �
�
!

#��$�
�� ��% �����% ���%!

B

A

B

A

B

A

�������

&��� 
���
�'��( O(n log n)

��������� 
���
�'��( O(n2)
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�������� ��� n × n 
��
	�� A 	
� B�

�������� ���
	
� C � ����� !��� C = A × B�

• � ��������	 �
��
��

C[i, j] =
∑

1≤k≤n

A[i, k] · B[k, j]

"# $��%
��	& � ����� 
���

�
��
����� C = A × B #"

for i = 1 to n

for j = 1 to n

for k = 1 to n

C[i, j] := C[i, j] + A[i, k] · B[k, j]

�������� Θ(n3)

���������� 	
� ����
��	����
 ������� � ��

�

�

�

• ��� ���������	���
�����
�� ����������

�
�������� ��� n = 2k ��� k = log n��

��� �� A × B ��
�� !"

[
A1,1 A1,2

A2,1 A2,2

]
×

[
B1,1 B1,2

B2,1 B2,2

]
=

[
C1,1 C1,2

C2,1 C2,2

]
�#�

����

C1,1 = A1,1 × B1,1 + A1,2 × B2,1

C1,2 = A1,1 × B1,2 + A1,2 × B2,2

C2,1 = A2,1 × B1,1 + A2,2 × B2,1

C2,2 = A2,1 × B1,2 + A2,2 × B2,2

���

���
���	�����

T (n) =

{
b n ≤ 2

8T (n
2
) + cn2 n > 2

�$�



���������� 	
� ����
��	����
 ������� � ��

�

�

�

����� ���� � 	
��
�� ���������

T (n) = 8T (n
2
) + cn2 = 8

(
8T (n

4
) + c(n

2
)2

)
+ cn2 =

= 82T (n
4
) + cn2

(
1 + 8( 1

2
)2

)
=

= 82
(
8T (n

8
) + c(n

4
)2

)
+ cn2

(
1 + 8( 1

2
)2

)
=

= 83T (n
4
) + cn2

(
1 + 8( 1

2
)2 + 82( 1

22 )2
)

=

= · · · =

= 8kT (1) + cn2
(
1 + 8( 1

2
)2 + 82( 1

22 )2 + · · · + 8k−1( 1
2k−1 )2

)
= Θ(n3)

• 8k = 8log2 n = nlog2 8 = n3

• cn2
(
1 + 8( 1

2
)2 + 82( 1

22 )2 + · · · + 8k−1( 1
2k−1 )2

)
= cn2

∑log2 n−1

j=0
8j( 1

2j )2 =

= cn2
∑log2 n−1

j=0
2j ≤ cn3

���������� 	
� ����
��	����
 ������� � ��

�

�

�

• ��� 
��� ��� ��� ���
���

T (n) =

{
b n ≤ 2

7T (n
2
) + cn2 n > 2

���

T (n) = 7T (n
2
) + cn2 = 7

(
7T (n

4
) + c(n

2
)2

)
+ cn2 =

= 72T (n
4
) + cn2

(
1 + 7( 1

2
)2

)
=

= 72
(
7T (n

8
) + c(n

4
)2

)
+ cn2

(
1 + 7( 1

2
)2

)
=

= 73T (n
8
) + cn2

(
1 + 7( 1

2
)2 + 72( 1

22 )2
)

=

= · · · =

= 7kT (1) + cn2
(
1 + 7( 1

2
)2 + 72( 1

22 )2 + · · · + 7k−1( 1
2k−1 )2

)
= Θ(nlog2 7) = Θ(n2.71)

• cn2
(
1 + 7( 1

2
)2 + 72( 1

22 )2 + · · · + 7k−1( 1
2k−1 )2

)
= cn2

∑log2 n−1

j=0
7j( 1

2j )2 =

= cn2
∑log2 n−1

j=0
( 7
4
)j = cn2c′( 7

4
)log2 n = cc′nlog2 7
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� ������� ����	��	
�	��� ��
���
 ��� Strassen[
A1,1 A1,2

A2,1 A2,2

]
×

[
B1,1 B1,2

B2,1 B2,2

]
=

[
C1,1 C1,2

C2,1 C2,2

]

P = (A1,1 + A2,2) × (B1,1 + B2,2)

Q = (A2,1 + A2,2) × B1,1

R = A1,1 × (B1,2 − B2,2)

S = A2,2 × (B2,1 − B1,1)

T = (A1,1 + A1,2) × B2,2

U = (A2,1 − A1,1) × (B1,1 + B1,2)

V = (A1,2 − A2,2) × (B2,1 + B2,2)

C1,1 = P + S − T + V

C1,2 = R + T

C2,1 = Q + S

C2,2 = P + R − Q + U

• � 
���

�
��
���� 	
� �� 
��������� �
�
��������

• T (n) = Θ(n2.71)  �
� ��! �"�� ��� #$%&

���������� 	
� ����
��	����
 ������� � ��

�

�

�

������ ���	�
��
�	� ���

• ��� ����� ����	�� �
 
���

�
�������� ��� 2× 2 
��
	�� �� ���������� 

� �


���

�
��
������

• � 
���

�
��
���� 
���	�� �
���� �
 �
�������� �� O(n2.376) ������

���� 
����� �� �����
������
��

•  �
 
��� ��	���� 
��
	�� ��� !���"
��	#$ �%�����

•  �
 
��
	�� ���
��� ���%���� ��� �%���� ��� Winograd�

•  �
 
��� �������� 
��
	�� ��� �%���� ��� Strassen�
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�

����������	 
��	 ����
�� 
��������

������	 �� �������� ��
 �������
 A[0..n + 1]� �� �������� A[i], 1 ≤ i ≤ n, ���
�

��
 ��
�	� �������� ��� ������ ��� A[i − 1] ≥ A[i] ≤ A[i + 1]

�����
����

7 3 1 2 4 8 5 12 4

local minimum local minimum

������ ! "��
 �������
 A[0..n + 1] ������ #��� A[0] = A[n + 1] = +∞
"����� ! $ ���� ��� ��
�	�� ���������%

• ����	 ����	 ���������	

��
������ �� �������
 

� �
 
������� 
�� �
 ����� 	
�

��
 	��� ���
 ��
����	� ��� �������
 ������� ��� ������

element 1 ≥ element 2 ≤ element 3%

������� Θ(n)

���������� 	
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 ������� � ��

�

�

�

��� ���������	���
�����
�� ����������

������� ��� ��� ����
 ��� ��
����
��� A[i..j], j − i ≥ 2 ������ ��� A[i] ≥ A[i + 1]

	
� A[j − 1] ≤ A[j] ���� ��� ����
 A[i..j] �
����� ��
 ��
�	� ���������

 ��! ��� ��� A[0] = A[n + 1] = +∞" 
������ �
����� ��
 ��
�	� �������� ���

�������
 A�

i b-1 b b+1 j

· · ·
if A[b] ≥ A[b + 1] =⇒ ∃ ��
 ��
�	� �������� ��� A[b..j]

else if A[b] ≥ A[b − 1] =⇒ ∃ ��
 ��
�	� �������� ��� A[i..b]

else A[b] �#�
� ��
 ��
�	� ��������

· · ·

����
�� O(log n)
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§ ���� �������� �� 
��
	�� � ���� ����

§ ���� �� 
��������� ��� ���
�������� ���� ����

 !������
�����
� "�
#�����	�� ���$������� 

� 
���� �%� "�
�&��%�'�

( �)���� ���
�	�) ���*������ "�� ���
� ��� $�$����

�
�
�������� ����� ��� ���	
�

§ ���� “The master method” ���� ����

§ ���� “Proof of the master theorem” ���� ����
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� ������� ��� 	
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���� � �The Greedy Method�

���������� �	��
�����
����

• �
 
������
�
 
��� �
���� �
 ����� 

�

��� 

� ��
 ���
��� � !���"

• #��� � !� ���� ��
 ����" $
����� �� �
 �
�����!���� �� � !� �� ��� ��������

	optimal
 %����!�� � �����!��& ����"

�����	
��� '
 ������ �� �����!�� ����
��� 

� ��� 	���� s !��� 	���� t"

s

1

2

3

4

t

5

20

21

15
14

12

13

10

11

3

1

2

�������
 ������

s − 2 − 4 − t 2 + 13 + 20 = 35

s − 1 − 5 − 2 − 4 − t 3 + 14 + 12 + 13 + 20 = 62

s − 3 − 4 − t 1 + 10 + 20 = 31
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�	 �#�
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 �� ��� ��
� �
�� ��� 
��������� �
�������� ��


"���� �� �� � ��
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 "���� ��
��� ��% ������ �� �������������

��� ��������� ���!

&
 ������ ����'

• ���"���
 �
������ ��
 ��������(� )activity selection problem*!

• +,��	�� Huffman!

• -�� 
�������� ��� Prim ��
 �� ���������
 ���$� �(� ��
 ������	,� �����(�

)minimum spanning trees*!

• -�� 
�������� ��� Dijkstra ��
 ���� � ���$� �(� ����

��,� 

� ��
�

	��"�.
/�����
 )single source shortest paths*!
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�������� �	
���
� �������
��
��� �activity selection problem�

�������� ���	 �
���� S = {1, 2, · · · , n} 	�
 n �������
����� ��	�����
����� 
���


��� �������
� �	 ��������������� ��	� ����
 �
�� �	�����	� ���
�����

������� ��	 ���� ��	�����
���	 i� �	�  �	 �� ������� ���	
� ����
�� �start

time� si �	� �� ������� ���	
� ��������� �finishing time� fi� ���
�� 
��

fi > si�

��!����� ���	 �" ���� �
���� 	�� ���#���� �mutually compatible� ��	�����
������

• $� ��	�����
����� i �	� j ���	� ��
����� ��� �	 ��	����	�	 [si, fi) �	� [sj , fj) ���

����	�
�����	��

������
���

%
���� &�����	 ��	�"!����

'�	�����
������ Lect1 [1..3)�� Lect2 [2..3)�� Lect3 [4..6)��

Lect4 [3..5)�� Lect5 [5..7)��

�
���� ������
��������� ��
���

1 2 43 65 7 1 2 43 65 7

1 2 43 65 7

A B

C

1 4 5 2 3

2 4 5
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�
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 �� ��� ��	������ ����	��
�

• �
����� �� � ��� �!�� ��
 �� ���������
�"

t

• ��� 

����� �� � ��� �!�� ��
 �� ���������
�"

t
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����������� ��� ������ 
����#

• ��� 

����� �� ����� ���� ��
 �� ���������
�$

t

• ��� 

����� �� ����� ���� ��
 �� ���������
�$

t
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��� ������	�
 ����

�
������ ��� �� ��
����������� ���
� ��
���
������ �� 
�����
 ����� �� ���� ��

�����	 ����� 
����!��� ����" ���#" f1 ≤ f2 ≤ · · · ≤ fn# $%�� ��� ���
�" ���

�
��������� �� O(n log n) �����#&

�
� ���� ��� ����
��� �� ���

 �� �
��������� ��
����������'

�" �
����� �� ��
���������
 ��

�� ��	������ �����	 ����� 
�'

���!���#

Greedy activity selection(s, f)

n = length(s)

A = {1}
j = 1

for i = 2 to n do

if si ≥ fj then

A = A ∪ {i}
j = i

return A

• ( �
����� )��� ��� 
��������� �
����*���
� �� ��� �	��� ��� ��
���������
� �

�
��
 �������
���� �� 
��� ��� ������ 
�� �
���� �
 ��
����� ��� ������ �� �����

��
�����������#

• +� ������ A 
������� ��� �
��������� ��
�����������#

• +� j �
����*��� �� 
�� 
���)
�� ��
���������
 
�� 
�������	� ��� A#

�
����
��	�	�� Θ(n)
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1
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4

5

6

7

8

9

10

11

3 5

0 6

5 7

8

5 9

6 10

8 11

8 12

2 13

12 14

1 4

3

Finising time

Starting time
Activity

1 2 4 5 63 7 8 9 10 11 12 13 140

1

2

3

4

6

7

8

9

10

11

time

5
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 � � 
��������� Greedy activity selection 

����� �������� ��������

������ ��
 �� 
������
 �
������ ��
����������� 

����
 � !
��"�� �#
 �������� ���� � �
�#
 ��	��� "����	� �� ��� �
�����

�	����$ ��� $ �� ��
���������
 % 

�������� &'��� A ⊆ S �#
 �������� ���� ��� 
������
��� �
������

��
����������� 

• ����
�� ��� ��
����������� ��� A �� ���� �� "����	� ������ 
�������� ���� 

• &'��� k � 
�(�� ��
���������
 

• '�� k = 1 �"���� 

���#��� �� )�������� 

• '�� k �= 1 ���� �� A−{k}∪ {1} �#�
� �
#��� �#
 �������� ���� *f1 ≤ fk 	
� {1} ∈/ A+ 

fk

rest of activities A

fkf1

rest of activities1

k

A-{k} U {1}

�
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����� � ��� �� A ���
� ��
 �������� ���� ��� 
���	�� 
������
��� S ���� ��

A′ = A − {1} ���
� ��
 �������� ���� ��� 
������
��� �
������ !�
���������"�

S′ = {i ∈ S : si ≥ f1}#

����	
��

• $���" ��� �� A 
������� m !�
�����������# =⇒ %� A′ 
������� m − 1

!�
�����������#

• &
������ ��� �� A′ !�� ���
� �������� !��# 

�
����� ��
 ������ B 

� ����
��� !�
����������� �� �
��� 
������� 
�����������

!�
����������� 

� �� A′ |B| > m − 1#

%��� �� B ∪ {1} ���
� �
���� ��
 ���� ��
 �� S 	
� �
�
���� |B ∪ {1}| > m# $��
 ��

A !�� ���
� ��������# ���� �!���� �� ���
� ��
�� 
���'��	�� �� ��� �
����� ��� �� A

���
� ��������#
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• ����� ����
 �
•  
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���� 
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������� Huffman
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 ��
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��
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�"��
�
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� �"
 ���
��	 ��
��	 ������������ (binary

string)#

• $���	�� ��
����� � 	��� %Fixed-length codeword&#

• $���	�� ���
������ � 	���%Variable-length codeword&#

a b c d e f

'�������
 %�� ��������& () �* �+ �, - )

$���	
� ��
����� � 	��� ... ..� .�. .�� �.. �.�

$���	
� ���
������ � 	��� . �.� �.. ��� ��.� ��..

• /���
���
��� *..!... bits ��
 ��� 	0��	�
�"��� ���� 
���"�� 
�� 

�����"�
� 

�

�..!... �
�
	� ��� %���� 

� a-f & ��� �������
�� ����� ��� 	���	
 ��
�����

� 	���#

• ��� �������
�����" � 	���	
� ���
������ � 	��� ����
���
��� ������	� 
����� bits

"�� ��1

1000 · (45 · 1 + 13 · 3 + 12 · 3 + 16 · 3 + 9 · 4 + 5 · 4) = 224, 000.

���"
�� +)2 ��	����"
 �����#

���������� 	
� ����
��	����
 ������� � ��

�

�

�

������� ��	
� �	�
��� �Prefix-free codes�� ���
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��� 	
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 ���� �codeword� ��� ���
� �� 
�����
 �prefix� 	�
��
� ������

•  � 	���	�� !"��� 
�����
�
 

��
���#� ��� 	"��	�
���$� 	
� ��� 
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%"��	�
���$�& 'abc( & ))) ))* )*) �	���	
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����# �+	����

& ) *)* *)) �	���	
� ���
,����# �+	����

�
�	"��	�
���$�& -��$���
���#�� ��
��	� �����
�
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����# �+	��� ���/,����$���� 0��
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e:9 f:5

14c:12 b:13

25

d:16

a:45

30

55

100

0

0

0 0

0

1

1

1

1

1

a:45 b:13 c:12 d:16 e:9 f:5

0

0

0 0 0

0

1

11

1

1
58

86

28 14

14

100
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 $#���� 

� C

!
�
	�+��� �!�� 
	��,�� |C| 3#��
 	
� |C| − 1 �$"����	�#� 	��,����
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 ������ T 
�� 
���������� �� ��
 prefix-free 	���	
 ��
 �� 
� �!���

C" #
���$ �������� ��
 
����� 

�����%���� 

� �
�
	����$ ��� C 	
� ����&

• f(c) �
�������� �� ��������
 ��� �
�
	���
 c ���
 ��� 
�����' 	
�

• dT (c) �
�������� �� !���$ ���  %���� 
�� 
�


����� �� c ��� ������ T "

( 
�����$ ��� bits 
�� 


�����
� ��
 ��� 	���	�
����� ��� 
������ ���
�&

B(T ) =
∑
c∈C

f(c) · dT (c)

)� B(T ) ���*��
� �$ �� 	����$ ��� ������� T "

�������� +� �������� ��
 
� �!��� C 	
� ��
 �%���� 

� ���������$ ��
 ���$

�
�
	����$ ��� C' �
 !����� ��
 ����
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�����$ ,������- ��������� 	�����$"
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Huffman(C)

�� Q is a priority queue ��

n = |C|
Q = C

for i = 1 to n − 1 do

z = allocate node()

x = extract min(Q)

y = extract min(Q)

left[z] = x

right[z] = y

f [z] = f [x] + f [y]

insert(Q, z)

return extract min(Q)

f:5 e:9 c:12 b:13 d:16 a:45

d:16

e:9 f:5

0 1

14

c:12 b:13

0 1

25 a:45 a:45

c:12 b:13

0 1

25

d:16

e:9 f:5

0 1

14

0 1
30

a:45

c:12 b:13

0 1

25

d:16

e:9 f:5

0 1

14

0 1
30

0 1
55

a:45

c:12 b:13

0 1

25

d:16

e:9 f:5

0 1

14

0 1
30

0 1
55

0 1
100

d:16 a:45

e:9 f:5

0 1

14b:13c:12

���������	
	�� O(n log n) ���� � Q ���� ���
������ �
� ����� (binary heap)� 
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�
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 �� C ���� �
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 x 	
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'� bit�

�������� � ��! ��
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'���� �������� prefix-free
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�

x

b c

y y

cx

b

y

b

c

x

T T’ T"

• � ��! b, c �'�
� �"� #
�
	�$��� 
�� �'�
� )
���(�
* �������� ������ ��� T �

• +
������ ��� f(b) ≤ f(c) 	
� f(x) ≤ f(y)�

• ���
������ �� b �� �� x� ,=⇒ B(T ) ≥ B(T ′)-

• ���
������ �� c �� �� y� ,=⇒ B(T ′) ≥ B(T ′′)-
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C′ = C − {x, y} ∪ {z}#
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T

x y

z

T’

• B(T ) = B(T ′) + f(x) + f(y)#

• /
������ ��� �� T ′ ��� ���
�  �������# =⇒ ∃ T” for C′ : B(T”) < B(T ′)#

• 0
���(�� �
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 prefix-free 	!��	
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B(T”) + f(x) + f(y) < B(T )# ���� ���
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